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KHSGY 1285 120 89.0 10.2 1 6,022 90.3 6 W2
KHSGY 1288 118 856 10.7 1 5,267 79.0 8 W2
KHSGY 1290 116 90.1 9.3 1 5089 76.3 9 W2
KHSGY 1291 119 906 11.2 5 5,533 83.0 7 W2
KHSGY 1293 128 933 129 5 6,822 102.3 3 W1
KHSGY 1306 130 999 124 5 6,978 104.7 1 W 1
KHSGY1313 130 1034 148 1 6,222 93.3 5 W1
KHSGY1316 128 1016 136 5 6,956 104.3 2 W1
TCSG1 128 947 136 1 6,667 100.0 4 W2
KHSY 1297 130 998 142 5 6,533 89.9 8 2
KHSY 1298 128 857 131 5 5,800 79.8 11 2
KHSY 1299 128 940 126 5 6,711 924 7 1.5
KHSY 1301 126 102.2 14.2 1 6,756 93.0 6 2
KHSY 1302 124 934 134 1 7,178 98.8 4 2
KHSY 1305 126 96.8 135 5 8,022 110.4 1 2
KHSY1310 121 103.1 124 1 7,044 96.9 5 1.5
KHSY 1311 121 103.9 13.1 1 6,111 84 .1 10 2
KHSY1312 121 99.8 109 1 6,311 86.9 9 1.5
TCS10 121 101.3 146 1 7,267 100.0 3 2
KSS7 123 999 140 5 7,556 104.0 2 3
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KHSGY 1285 95 89.0 138 1 3,578 116.7 3 W1
KHSGY 1288 97 89.0 146 1 3,489 113.8 4 W1
KHSGY1290 102 1070 140 1 3,311 108.0 7 W2
KHSGY 1291 102 1020 10.2 5 3,800 123.9 1 W1
KHSGY1293 99 938 136 &5 3,622 118.1 2 W1
KHSGY 1306 102 934 130 5 3,400 1109 6 W 2
KHSGY1313 98 956 142 1 3,444 1123 5 W2
KHSGY1316 100 96.2 126 5 3,311 108.0 8 W1
TCSG1 100 936 126 1 3,067 100.0 9 W 2
KHSY1297 100 95.0 138 &5 3,422 87.5 7 2
KHSY1298 102 89.0 132 &5 4,067 104.0 1 2
KHSY1299 98 88.8 142 5 3,622 92.6 5 1.5
KHSY1301 102 100.0 10.6 1 2,422 61.9 11 2
KHSY1302 102 952 124 1 3,533 90.3 6 2
KHSY1305 97 972 134 5 3,200 81.8 10 2
KHSY1310 98 950 M6 1 3,639 93.0 4 1.5
KHSY1311 98 974 16 1 3,267 83.5 8 2
KHSY1312 97 950 128 1 3,267 83.5 9 1.5
TCS10 100 972 136 1 3911 100.0 3 2
KSS7 100 96.2 144 5 3,956 101.1 2 3
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KHSY 1272 121 1003 118 1 4,433 722 12 W2
KHSY 1275 121 1021 120 1 6,478 1054 4 W1
KHSY 1277 123 1064 142 1 3,733 608 13 W2
KHSY 1279 125 1039 122 5 5689 926 8 W2
KHSY 1280 128 1048 146 5 7,022 1143 3 W1
KHSY 1282 116 967 110 5 5244 854 11 W2
KHSY 1283 120 970 119 1 5722 931 7 W1
KHSY 1284 121 1002 113 5 5589 910 10 W2
KHSY 1154 121 100.7 140 1 7,722 1257 2 W1
KHSY 1248 118 975 125 5 6,256 1018 5 2
TCS 10 125 1019 115 1 6,144 1000 6 2
KSS 7 123 1024 141 5 7,833 1275 1 1.5
TCSG 1 125 954 137 1 5656 921 9 W2
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KHSY 1272 96 942 116 1 3587 1004 5 W2
KHSY 1275 96 938 116 1 3427 959 8 W2
KHSY 1277 96 934 136 1 3347 937 9 W1
KHSY 1279 99 972 128 5 3693 1034 2 W1
KHSY 1280 100 936 122 1 3,747 1049 1 W1
KHSY 1282 96 100.0 120 1 2253 631 13 W2
KHSY 1283 97 942 130 1 3173 888 11 W2
KHSY 1284 99 1000 128 5 3693 1034 3 W1
KHSY 1154 99 950 134 1 3667 1026 4 W1
KHSY 1248 98 920 134 5 3173 888 12 2
TCS 10 100 922 128 1 3573 1000 6 2
KSS 7 102 936 130 5 350 996 7 15
TCSG 1 100 920 128 5 3280 918 10 W2
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